BERZZEEO (B L f#E)

[1]@8 1 2:1 (2) 4cm  (3) 59
(1) 2 2OWAFHONIET BLDES DHIE
BC:FG=10:5=2:1
THEHO, AL 2:1
2 )&V, HELtZ2: 1THENH
CD:GH=2:1
8:GH=2:1
£oT GH=4cm
(3) UL TIE, METIANDKEIFFLVNS  LH=4D
ZZT, MAR ABCD IZBW\T
£D =360°—(104° +90°+107°) =59°
£oT ZH=59
1) z=10 @ z=9 (3) z=8 (4 z=14
(1) AAEC & ABED 25T
AE :BE=6:12=1:2
CE:DE=4:8=1:2
MIEMAIFFELVNAS  LAEC= £BED
£-T, 2MOADLE TDHEDANTNENFEL NS
AAECwABED
R =ZARONISY 2ADHIEF LN S
AC:BD=AE:BE
5:x=1:2
INEBNT =10
(2) AADE & AABCIZBWT
{REH»S  LADE= ZABC
HBLATHEMNS LDAE=LBAC
£oT, 2HOANZNTNEL VDS
AADE»AABC
R =ZARONISY 2ADHIEF LN S
DE: BC=AE: AC
6:z=8:(8+4)

INEFRNT z=9
3) AABC & AAED IZHEWT
REM S ZABC= ZAED
H@iAaThsns £LBAC=ZLEAD
£oT, 2HOANZENTNELONS
AABCxxAAED
R =ATKOXN T 2ADHITZFEL VNS
AB: AE=AC: AD
(4+2):6=(6+2): 4
INEHRNT =8
(4 AABC & ADACIZBEWT
AC:DC=24:16=3:2
BC: AC=(20+16):24=3:2
HEBERATHBEMNS LACB=ZLDCA
&2 T, 2HDIDLL L ZDEDANENETNZFEL VNS
AABCoxADAC
AR =AFROMIET 2LDIFELWNG
AB: DA=AC:DC
21:2=3:2
INERRNT =14
2287 cm?
BA L CD DR E%® O &§ 5,
AD/BCTHdnH
OA :OB=AD:BC=2:3
OA:(OA+4)=2:3
OA=8
Lo T, RDBHHEIX

%Xﬂx92><(8+4)—%><7r><62><8

=3247 — 967 = 2287 (cm?)




